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USING BONDS OF 10 TO SUBTRACT 
FROM 20 

Name: Date: 

Use rods and number lines to answer these questions. Below is an example. 

Example:  

20 – 4 = 

10 take away 4 is 6 

  

so, 20 take away 4 must be 16. 

  

I can show this using Cuisenaire rods and on a number line.  

 

I can record it as an equation. 

20 – 4 = 16 

 
20 – 2 = 
 

20 -  = 19 20 -  = 20 

20 – 10 = 
 

20 – 3 = 20 -  = 16 

20 – 0 = 
 

20 -  = 15 20 – 1 = 
 

20 -  = 17 
 

20 -  = 10 20 -  = 12 

20 – 4 = 
 

20 -  = 11 20 – 7 = 

20 – 5 = 
 

20 – 8 = 
 

20 -  = 18 

20 -  = 14 
 

20 – 6 =   

20 – 9 = 
 

20 -  = 13  
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USING BONDS OF 10 TO SUBTRACT 
FROM 20 

20 – 2 = 18 
 

20 - 1 = 19 20 - 10 = 20 

20 – 10 = 10 
 

20 – 3 = 17 20 - 4 = 16 

20 – 0 = 20 
 

20 - 5 = 15 20 – 1 = 19 
 

20 - 3 = 17 
 

20 - 10 = 10 20 - 8 = 12 

20 – 4 = 16 
 

20 - 9 = 11 20 – 7 = 13 

20 – 5 = 15 
 

20 – 8 = 12 
 

20 - 2 = 18 

20 - 6 = 14 
 

20 – 6 = 14  

20 – 9 = 11 
 

20 - 7 = 13  
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